

Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

PURCHASE REQUEST

PPMP No.: **PPMP-2024-101024-0522**

PR No.: **GF-2024-11-03116**

Date: 11-06-2024

Dept./Office: CN

Section/End-User: Guada Fe D. Amihan

Category: Books & Library

Materials

Funding Source: General Fund - MOOE

Project Title/Code: College of Nursing Skills Laboratory

| em # | Item Description | Unit | Qty | Unit Cost | PAR/ICS | Total Cost |
|---------|---|------|-----|-----------|---------|------------|
| 1 | Clinical Nursing Skills and Techniques 10th Edition | pcs | 2 | 4,500.00 | | 9,000.00 |
| | Specification: | | | | | |
| | 10th edition | | | | | |
| | year published: 2021 | | | | | |
| 2 | Community and Public Health Nursing, Philippine Edition 2nd Edition | pcs | 2 | 2,200.00 | | 4,400.00 |
| | Specification: | | | | | • |
| | 2nd edition | | | | | |
| | year published: 2020 | | | | | |
| 3 | Essentials of Anatomy and Physiology 11th Edition | pcs | 2 | 4,300.00 | | 8,600.00 |
| | Specification: | | | | | |
| | 11th edition | | | | | |
| | year published: 2022 | | | | | |
| 4 | Ethics of Health Care: A Guide for Clinical Practice 4th Edition | pcs | 2 | 1,000.00 | | 2,000.00 |
| | Specification: | | | | | |
| | 4th edition | | | | | |
| | year published: 2018 | | | | | |
| 5 | Focus on Nursing Pharmacology 9th Edition | pcs | 2 | 8,000.00 | | 16,000.00 |
| | Specification: | | | | | |
| | 9th edition | | | | | |

| | ar published: 2023 | | | | |
|----|--|-----|----------|----------|----------|
| 6 | Fundamentals of Nursing 11th Edition | pcs | 2 | 3,500.00 | 7,000.0 |
| | Specification: | 1 | | | 1,000. |
| | 11th edition | | | | |
| | year published: 2021 | | | | |
| 7 | Gerontologic Nursing 6th Edition | pcs | 2 | 2,000.00 | 4,000.0 |
| | Specification: | | | | 1,500.0 |
| | 6th edition | | | | |
| | year published: 2019 | | | | |
| 8 | Maternal and Child Health Nursing 9th Edition | pcs | 2 | 4,000.00 | 8,000.0 |
| | Specification: | | | | 3,000.0 |
| | 9th edition | | | | |
| | year published: 2023 | | 3 | | |
| 9 | Medical-Surgical Nursing 15th Edition | pcs | 2 | 4,500.00 | 9,000.0 |
| | Specification: | | | | |
| | 1th edition | | | | |
| | year published: 2022 | | | | |
| 10 | Nurse as Educator: Principles of Teaching and Learning of Nursing Practice 5th Edition | pcs | 2 | 3,500.00 | 7,000.00 |
| , | Specification: | | <u> </u> | | |
| | 5th edition | | | | |
| | year published: 2019 | | | | |
| | Nurse's Pocket Guide: Diagnoses, | | | | |
| 1 | Prioritized Interventions and Rationales 16th Edition | pcs | 2 | 1,600.00 | 3,200.00 |
| | Specification: | | | | |
| | 16th edition | | | | |
| | year published: 2022 | | | | |
| 2 | Nursing 2025-2026 Drug Handbook 45th Edition | pcs | 2 | 3,500.00 | 7,000.00 |
| S | pecification: | | | | |
| | 45th edition | | | | |

| | ear published: 2025 | | | - | |
|----|--|-----|---|----------|----------|
| 3 | Nursing Care of Infants and Children 12th Edition | pcs | 2 | 4,000.00 | 8,000.00 |
| | Specification: | | | | |
| | 12th edition | | | | |
| | year published: 2024 | | | | • |
| | Nursing Diagnosis Handbook 12th Edition | pcs | 2 | 3,000.00 | 6,000.00 |
| | Specification: | | | | |
| | 12th edition | | | | |
| | year published: 2022 | | | | |
| 15 | Nursing Guide to Physical Examination and History Taking 3rd Edition | pcs | 2 | 2,600.00 | 5,200.00 |
| | Specification: | | | | |
| | 3rd edition | | | | |
| | year published: 2022 | | | | |
| 16 | Nursing Management Towards Quality Care 4th Edition | pcs | 2 | 1,000.00 | 2,000.0 |
| | Specification: | | | | |
| | 4th Edition | | | | |
| | year published: 2004 | | | | |
| | author: deceased | | | | |
| 17 | Nutrition Essentials for Nursing Practice 9th Edition | pcs | 2 | 4,000.00 | 8,000.0 |
| | Specification: | | | | |
| | 9th edition | | | | |
| | year published: 2021 | | | | |
| | | | | | 4,000. |
| 18 | | pcs | 2 | 2,000.00 | 4,000. |
| 18 | Nutritional Foundations and Clinical Applications: A Nursing Approach 8th Edition Specification: | pcs | 2 | 2,000.00 | 4,000. |
| 18 | Clinical Applications: A Nursing Approach 8th Edition | pcs | 2 | 2,000.00 | 4,000. |
| 18 | Clinical Applications: A Nursing Approach 8th Edition Specification: | pcs | 2 | 2,000.00 | 4,000. |

oth Edition year published: 2012 author: deceased Professional Nursing Practice, 20 Ethics and Jurisprudence 1st 2 1,000.00 2,000.00 pcs Edition Specification: 1st edition year published: 2023 Psychiatric Mental Health Nursing 4,500.00 9,000.00 21 pcs 2 9th Edition Specification: 9th edition year published: 2023 132,400.00 TOTAL Purpose: College of Nursing Skills Laboratory Funds Available: Checked by: CHYMOOE ALICIA M. FLORES BELJUN P. ENAYA HEAD, BUDGET OFFICE TWG - Books & Library Materials Prepared by Noted by: Approved by: Signature: GUADA FE D. AMIHAN PROSE IVY G. YEPES CHRISTIAN VIE P. BALDONADO Printed Name: PRESIDENT, VSU UNIT HEAD, PROJECT LEADER

Designation:

SIGN